Bus Stop Method Division - 3-Digit Numbers

LO: I can use a formal method of division

1.429 =+ 3 = 16.592 + 4 =
2.560+ 4= 17. 684 + 2 =
3.615+5= 18.328 + 4 =
4. 764 + 4 = 19. 648 + 8 =
5.288 + 3 = 20. 684 + 6 =
6.670 + 5= 21.954 +9 =
7.488 + 2 = 22. 637 +7 =
8.920+ 4 = 23. 678 + 6 =
9.363+3= 24, 665 +7 =
10. 510 + 5 = 25.945 +9 =
11.504 + 4 = 26. 864 + 8 =
12. 642 + 6 = 27.574 +7 =
13.752 + 8 = 28. 708 + 6 =
14.558 + 6 = 29.936 +9 =
15.728 + 8 = 30.623+7 =
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Bus Stop Method Division - 3-Digit Numbers: Answers

question answer
1 143
2 140
3 123
4 191
5 96
6 134
7 244
8 230
9 121
10 102
n 126
12 107
13 94
14 93
15 91
16 148
17 342
18 82
19 81
20 114
21 106
22 91
23 113
24 95
25 105
26 108
27 82
28 118
29 104
30 89
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